£

B 3TRIAL %% I
BREER

(BB ZR)

@TRIAL A, TRIAL B, HERIEDHZ

1 (1) #R%3, %3,
PICHEBT DL RS 3a, W2
2 RE1, w2,
ICEHTHE REh, K1
(3) ¥ —2, KE2;
ICEBTDE R -2y, Wil
@) % -1, w4,
VICHEHT DL Rk —x KE3
(5) %3, W4
x& yICEBETDE RH 3, K3
(6) "% —5, W T ;
albICERTDE R —52%° WE2

2 () (5R)=(845-10)x+(—1+4)=3x+3
RO WEOEWEIZ 3x
L-oT, ZoBRNOKRKIZ 1
2) (BR)=B-1x2+1+2)x+(—1+7)
=222 432+6
B WO B WIEIT 242
roT, ZoBRoRKT 2
B) (5R)=(24+4)x°+(6—-3)x>+(—1+3)x—
=6x°+32%+2x—5
BbREOEOIAL 6x°
Lo T, ZoBROKEKIE 3
@) (5R)=(5-5x+3—6)x+(—3+2)
=-—3x—1
B HIREOE WA —3x
$oT, ZoBXOKRKIZ 1
6) (5HX)=(1-2)x*+(=5+3)x2+(2+1)
=—x'—24243
BEbLREOEVEILZ 0 —xf
rkoT, zoBXowEKT 4
6) (5x)=(1+1)a?+(—4+6)ab+(4—3)b>
=2a%+2ab+b?
EOEL 2RTH D,
£oT, ZoEXOKREIX 2

3 (1) xic&FHTDE 3WRA, EHKEJ
(2) alcEBTDHE 2®K, EHEHE D
(B) yiIc&EBTAHE 2w, EHE 242
(4) xCEHTHE 2K, EEcy? +2

4 (1) (5R)=54"—4x’+5x—2

2) (5R)=2-1)x°+@4—-1)x*>—2x+(—5+3)
=x3434%—2x—2

B) (5X)=(a?-3)x*+(2a*—5)x+1

@) (5R)=6x—(Ty+6)x+(2y*+5y—12)

5 (1) A+B=0Bx—4y—22)+(—x—4y+2z)
=B—1Dx+(—4—4)y+(—2+2)z
=2x—8y

A—B=3x—4y—2z)—(—x—4y+2z)
=3x—4y—2z+x+4y—2z
=@B+Dx+(—44+4)y+(—-2-2)z
=4x—4z

(2) A+B=(x%—3—2x)+(-5x+2x2—32°—1)

=(1=3)x*+2x*+(-2-5)x+(—-3—1)
=223+ 222 —Tx—4

A—B=(x*-3—2x)—(—5x+2x2—3x°—1)
=x%—3—2x+5x—222+3x%+1
=(14+3)2 =222+ (-2+5)x+(—3+1)
=4x%—2x2+3x—2

(3) A+B=(2a"—ab+5b%)+(—3a?+5ab—b?

=(2—3)a?+(—1+5)ab+(5—1)b?
=—a’+4ab+4b?

A—B=(2a’—ab+5b%)—(—3a?+5ab—b?
=2a*—ab+5b*+3a*—5ab+b?
=(2+43)a?+(—1-5)ab+(5+1)b2
=5a2—6ab+6b*

(4) A+B=(22°+6x%y+122y2+8y°)

+(22%—62%y+ 12292 —859)
=(242)2°+(6—6)x%y+(12+12)xy?
' +(8=8)y?
=4x%+24xy*
A—B=(2x°+6x2y+ 12292 +8y%)
—(2x°—6x2y+ 1229289
=244+ 622y 4 12xy% +8y°
—2x346x%y—12xy?+8y°
=(2-2)x3+(64+6)x2y+(12—12)xy?
+(8+8)y°
=12x%y+169°

s



22— 3TRIALE = 1
6 (1) A+3B=(2x2—3x+1)+3(x2+2x—4) 10 (1) (Fffﬁ)=a"+2=a6
=242 —3x+1+3x24+6x—12 (2) (BR)=3X(—4)x x¥3= 1245
=(243)2%+(=3+6)x+(1—12) @) (BR)= 3><5><x2“><y“'3 1531
=5x%4+3x—11 4) BR)=a>=qab
(2) 2A—B=2(2x2—3x+1)—(x2+2x—4) G) (B)=(—1)2X (z¥)2=x3%2= 46
=4x2—6x+2—x2—2x+4 6) (52)=(—4)3%(a?®x (b= —64ah®
=(4—Dx2+(—6—-2)x+(2+4) 7 ()= —x'y?x (=143
=3x2—-8x+6 Z(—IX(—1)) X xi+3x y2+l = x7y3
(3) 3A—2B=32x%—3x+1)—2x*+2x—4) 8) (53)=2ab2x(—3)%a?
=642 —9x+3—-2x2—4x+8 =(2X (=27} X a¥Ox b2+ = —54a"p°
=(6—2)2%+(=9—4)x+(3+8) ©) (5:)=a%?x(—3)ab’
=4x*—13x+11 =(—3)x gt x b3 o2 = 343553
7 () BAEOMCERTS 11 (1) (BR)=22X3x2+ 22X (—4x) + 22X 2
(5R)=—313+(5—6)22+(2—T)x+7 3t 4xd 2
=—3x°—x’—5x+7 @) (53)=a’X(—2a)+5aX(—2a)
AREOIEICERT D L +H(—3)X(—2a)
(53)=7—5r—x%~3x° =—24°*—10a%+6a
@ B ORICERT D (3) (530)=(—2x)X 2x2+(—22) X (—3xy)
(BR)=922+(=3y—2y—T)x+(y—4) F(—20)x(—y?)
=9x" =5y +Nx+(y—4) :—4;c3+6;\¢2y+2;\:y2
AREOIEICERT D L ab
(5= (y— ) — (By+ Tz + 927 ) (5= —><12b2 <—T>><12b2
2
8 (1) (53)=42"+122—8—8x+10462% +<_%“>X12b2
+4+3x-5x? —4a%?—2ab°—3b*
=423 +(6—5)x2+(12—8+3)x
+(—8+10+4) 12 (1) (5=)=32%2x+5)—42x+5)
=43+ 224+ Tx+6 =62+ 1542 —8x—20
2) (5X)=4a*-10a+20+3a—12—3a? 2) (5R)=(4x—1)x%+(4x—1)-(-5)
—3a%4+4a -7 =4x%—x2—20x+5
=4a°+(—3-3)a’+(—10+3+4)a @) (HR)=Hx?+2x—3)—1-(x*+2x—3)
+(20—-12-7) =23 4242 —3x—x2—2x+3
—6a’—3a+1 =x+x%—5x+3
9 (1) (53%)=24—B-2C @ (E’ﬁ):m;_zajz)a+<“2_2a'2>'3
=22x+ y+32) — (x+ 29+ 2)— 2Ax+ y+22) :”S_ZZ —22+32°—6a—6
=4x42y4+62—x—2y—2—2x—2y—4z =& +8" —8a—6
—(4—1—2)x+(2—2—2)y+(6—1—4)z 6) (BR)=(x’—2xy—y7)x
=2 Oytz +(x2—2xy— 57 - (—3y)
@) (H=) =x°—2x%y— xy?—3x2y+6xy?+ 3"
=A+C—(24-B-C) =u° =522y +5xy?+35°
=A+C—2A+B+C=—A+B+2C 6) (53
—(2x4 y+32)+(x4+2y+2)+2Ax+ y+22) =a(a®+3ab—2b%+2b(a’+3ab—2b?)
=—2%—y—3z+x+2y+2+2x+2y+4z =a®+3a% —2ab®+2a% +6ab*—4b°
=(—2+1+4+2)x+(—14+2+2)y+(—-3+1+4)z =a’+5a +4ab?—4b°
=x+3y+2z




1) HFR)=x2+2-x-44+4°
=x%+8x+16
(5R)=(4a)?+2-4a-3+3*
=16a2+24a+9
(5=)=(3%)2—2-3x-1+1?
=9x%—6x+1
(5R)=a?+2-a-Tb+(7b)?
=a?+14ab+49b*

(530)=(2%)?—2-2x-5y+ (5
=4x2—20xy+25y°

(5R)=a?—3*=a?-9
(5-3)=(x+10)(x—10)
=x2-10%
=x%2-100
(5)=(6a)?—b*=36a*—b*
(53)=(5x+2y)(5x—2y)
=(52)*—(2y)*
=25x%—4y°
1) (HFR)=x2+1+2)x+1-2

=x24+3x+2
(BER)=x2+{(—0)+2Jx+(—4)-2
=%2—2x—8
(BR) =224+ +(—1)lx+5-(—-1)
=x*+4x-5
(HR)=a’+{(-2)+(—
=a’—5a+6
22 +(Ta+a)x+7a-a
=x24+8ax+7a’
a’+(4b—3b)a+4b-(—3b)
=a’+ab—12b7
(HFR)=a’+(—b+2b)a+(
=a’+ab—2b°
(BER)=x24+(—2y—13y)x+(—2y)-(—13y)
=x%—15xy+26y%

3a+(=2)-(=3)
EFX)=
HX)=

—b)-2b

1) EHR)=1-322+(1-142-3)x+2-1
=32+ 7x+2

(HR)=2-4a+{2-(=1)+3-4la+3-(-1)
=8a?+10a—3

(57)=3-422+(3-3+(—2)-4)x+(—2)-3
=124+ x—6

(53)=4-1a’+{4-(=2)+(=3)-1a

+(=3)-(—2)

=4a?—1la+6

16

17

18

g &

(B)=1-2x4%+(1-3y+4y-2)x+4y-3y
=2x%+1lxy+12y°
(HFR)=2-3a2+{2-(—2b)+(—b)-3}a
+(—b)-(—2b)
=6a’—Tab+2b°
(5R)=5-4x2+{5-3y+(—y)-4)x+(—y)- 3y
=20x%+11xy—3y?
(5:7)=8-3x24{8-(—4a)+9a-3}x
+9a-(—4a)

=24x%—5ax—36a?

(1) (5R)={(a+2b)+3){(a+2b)—3}
=(a+2b)? -3
=a’+4ab+4b%-9

(53)={(Bx—2y) —1}{(3x—2y)+ 1]}

=(3x—2y)7?—1?
=9x2—12xy+4y*—1

(5X)={(e—b)+4){(a—b)+2}

=(a—0)?+(4+2)a—b)+4-2
=a?—2ab+b%+6a—6b+8

(52) ={(2x+ 3y) — 3}{(2x + 3y) + 6}

=(2x+ 3y +(
=422+ 122949y + 62 +9y—18

1) (HFR=((a—b)+c)?
=(a—0b)*+2a—b)c+c?

=a?—2ab+b%+2ac—2bc+c?

=a’+b?+c?—2ab—2bc+2ca
(5&)=((x+y) —2)
=(x+y?—2Ax+yz+2°
=224 2xy4+ y*—2x42—2yz +2°
=224 92422+ 2xy—2yz — 222

(53)={(a—2b)—3c}?
=(a—2b)*—2(a—2b)-3c+9c?
=a?—4ab+4b%—6ac+12bc+9c?
=a?+4b%+9c%—4ab+12bc —6ca

(HR)={(22—3y)+ 2}

=(24—39)?4+2(2x—3y)z+ 22
=4x2—12xy+9y*+4xz—6yz+2°
=4x%4+9y?+ 22— 12xy—6yz +4zx

(x
=1*—18x2+81

3

—3+6)2x+3y)+(=3)-6

—




19

——3TRIALELZ: |

HER)={(e+2b)(a— 2b>}
{a®—

(az—4b)
(a%)?—2-a% 4b%+
a'—8a’?4 160"
{(Bx— yX3x+ )}
{(3x)2— »?}?
(92— y?)?

(9x ) —2-9x%. y24(y%)?
8lxt—18x%y2 + y*
(a—2Ya+2)x(a?+4)
(a®—4)(a?+4)=(a?)?—4*
a*—16

(a®+b%) x(a—bXa+D)
(a?+0%)(a?—b) =(a?)?*—(b%)?
— 4_b4

(2x+3y)(2x 3y) % (422499
{(2x )% X (4x2+9y?)
(4x2 )(4x +9y9

(42%)* ( »%)?

16x4—81y*

Il

Il

(40%)?

I

(5H)=

(53)

(&)

I

1) (B2)=(3a)?—2-3a- lb+<;b>2

:9a2~3ab+%b2

% g )( "*M
:<2 -t

=2+ {3+(=2)y*+3-(-2)
=y'+y’ —6
2-5(x9)%+{2-(—4)+3-5}xy+3-(—4)
=10x%p%+Txy—12
(5)=((a?+2a) + 2}{(a?*+24) — 2}
=(a%*+2a)*—2?
=(a??+2-a% 2a+(2a)*—4
=a‘+4a’+4a’—14
(5 ={(x?—2) - 1{(x*—2) -3}
=(x2 =22 +{(—1)+(=3)Yx2—x)
+(—=1)-(=3)
=(x%)2—2- 2% x4+ 22— 4x*—x)+3
=x4—2x%4+ 22— 422+ 4x+3
=x'—22%—3x%+4x43

EFX)=

20 (1) (5)=2x°42x2+10x+4—16x— 442
—5x24-4x—3%°
=(2—-3)x3+(2—4—5)x?
+(10—-164+4)x+4
=—23—Tx2—2x+4
226x—y+3)+3xx—y+3)
+x—y+3)
=2x%—2xy+6x+3xy—3y%+9y
+x—y+3
=242+ Tx+xy—3y?+8y+3
(3) (5)=3xx24+5—23x) —2x%x%+5—3x)
—4(x24+5—3%)
=324+ 154—9x? — 224 —10x% +6x°
—4x2—20+ 12«
=—2x%4+9x3—23x2+27x—20

@) (5=

(BR)=(2x+(a—1))?
=(22)2+2-2x-(a—1)+(a—1)
=4x*+(4a—4)x+(a*—2a+1)

2) (BX)=(ax—2a—2)-3+(ax—2a—2)-(—x)

=3ax—6a—6—ax’+2ax+2x

=—ax?+(5a+2)x—(6a +6)

21 (1)

22 x*HEIT
22X 32+ ax(—2%)=3x°—«°
=2x°

koT, BofEt 2

23 (1) (5R)=(a?—2bc)(3a%+bc)
=1-3(a®?+{1-bc+(—2bc)-3}a?
+(—2b¢)-be
=3a*—5a%bc—2b%"?
@ (5R)={(m*—2m)-1}*
(m?—2m)?—2-(m*—2m)-1+1°
(m22—2-m? 2m +(2m)?
—2mi+dm+1
=mi—dmP+4dm?—2m?+4m+1
=m'—4m®+2m?+4dm+1
(a+b+crP=a’+b2+c?
+2ab+2bc+2ca

ZARE LTHAT S &
(HR)=(mH2+(—2m)P +(—1)242-m?- (—2m)
+2-(=2m)-(=1)+2-(=1)-m?
=mi+4m?+1—4dm®+4m —2m?
=m*—4m®+2m?+4dm+1




24

x—y 2+ y)Ex (22 + %2
&

={(
=(x ) 2%+ y%)?
={(x?—y)(x +y)}
={(x%*— =(x'—y*)?
=(x%2—2-x"- '+ ()2
=x8— Zx y +y
EHR)={(e— —dl(a—c)=(b—d))
=(a— —d)?

:a2—2ac+c —(b%2—2bd+d?
=a’—b2+c?—d*—2ac+2bd
(HFR)={(x"+ y7) + 29« + y7) — x5}
=(x2+y%)?—(xy)?
={(x)242- 22 Y2+ (527 — x2y?
:(x4+2x2y2+y4)—x2y2
=24 22?4yt
(FR)=(k+2)k—1) X (B2 —k+2)
=(k2+Ek—2)(k2—k+2)
(B +(k—2)}{k*—(k—2)}
=(k)2— (k=22 =k*'—(R2—4k+4)
=k'— 2t dk—4

(HR)={3x—(y— 1)][2x+(yA1)}

=3-2224{3-(y—1)—(y—1)-2Jx—(y—1)?

=6x2+(y—1)x7(;v2—2y+1)
=624 xy—x—y?+2y—1
=6x2+xy—y2—x+2y—1
(HFR)={2Aa—b)+cla—b)—c}
=2-1-(a—0)%+{2:(—c)+c¢-1}a—1b)
+e-(
=2a?—-2ab+b0%)—cla—b)—c?
=2a%—4ab+2b%—ac+bc—c?
=2a%42b*—c?—4dab+bc—ca

1) (HFR)=x2x+3)X(x+1)x+2)
=(2243x)(x%+3x+2)
=(x2+3x){(x2+3x)+2}
=(x2+3x)2+2(x*+32)
=x'4+6234+9x%+ 242461
=x'4+6x3+114%+6x

(BR)=(x+1)(x—4) X (x—1)(x—2)

(22 —3x—4)(x2—3x2+2)

{(x2—3x)—4}{(x>—32) +2}

(22 —3x)2—2(x*—32)—8

4644+ 9x%—2x%4+6x—8
f6x°4+7x%4+6x—8

x
x

—c)

(T

(B) (HR)=(x+2)(x—2)X (x+5)(x—5)
(x%—4)(x2—25)
=(22)2—-292%4100

=x*—29x24100

25 (1) (BX)=b-a—0b-3c=bla—3c)

@) (53%)=3ab-2a+3ab-b
=3ab(2a +b)

@) (5R)=242-x+2x% y—24%.3
=2x%x+y—3)

4) (BR)=4xy-y—4xy-3x+4xy-2
=4xyy—3x+2)

26 (1) (5R)=(a—1(z—1)

2 (HFR)=(x+1x+D)=(x+1)

@) (FR)=alx—y)+2Ax—y)
=(x—yla+2)

4) (5)=2c(a—3b)—(a—3b)d
=(a—3b)(2c—d)

27 (1) (5X)=x+2-x-3+32
=(x+3)?
2) (FR)=22-2-2-4+4
=(x—4)?
@) (5:X)=22-2-2-a+a?
=(2—al=(a—-2)
4) (BR)=x242-2-2y+(2y)?

=(x+2y)?

(5) (5R)=(32)%+2-3x-2y+(29)
=(3x429)

6) (5X)=a?—2-a-5b+(5b)%
—(zz—Sb)2

(7 (5R)=(4%)?—2-4x-3y+(3)?
=(4x—3y)

8) (5X)=x2-92
=(x+9)x—9)

9 (BR)=(3x2—-4*
*(3x+4)(3x 4)

10) (5R)=(22)2—(5y)
:(2x+5y J2x—5y)

11) (5X)=(8a)*—b?
=(8a+b)8a—10)

12) (53:)=(6xy)?>—7*
=(6xy+7)6xy—17)

28 (1) (5R)=x2+(3+4)x+3-4
=(x4+3)x+4)

e



66— 3TRIALE: 1

@) (5R)=x2+(=5-Tx+(=5)-(—7) (4) 62242-1 oe . 1 3
~<x—5><x—7> =(25+1)32—1) s X 1 — 2
B (BR)=a’+(—2+9a+(-2)-9 6 -1 1
=(a—2Ya+9) 5 8y24 14y
@) (5X)=22+(3-6)x+3-(—6) k):(;},i&(zyjz) Z><¥2:_22
—(x+3>(x—6) 8 —15 14
5) (5= —1-8)y+(—1)-(—8)
_<y 1>(y 8) 6 6y*—5y—4 2 1— 3
6) (53)=52+(3—9)y+3-(=9) =(2y+1X3y—4) 37N—4— -8
=(y+3)y—9) 6 -4 5
7 (HBR)=24+2+8)t+2-8 (7) 2x*—Tax+6a? 1 % — —dg
=(t+2)t+8) =(x—2a)2x—3a) B —3q —> —3a
@) (5RX)=x24(—5-6)x+(—5)-(—6) 2 602 —7a
=(x—5)(x—6) > 2
©) (BR)=y2+(—4+11)y+(—4)-11 <8):<Sf_4;<§i+ta> X Tl T
=(y—4(y+11) 3 i 1.
29 (1) (5R)=x2+By+5y)x+3y-5y (9) 5x2+7xy—6y? ] 2y — 10y
=(x+3y)x+5y) =(x+2y)(5x—3y) 5 -3y — —3y
@ (HER)=22+(—y—8y)x+(—y)-(—8y) 5  —6y2 7y
=(x—y x—8y) 2 2
(10) 12x*—7xy—12y Cdy—
(3) (52)=x2+(4y—6y)r+4y-(—6) — 3r—tydx+ 3 7 A i
=(x+4ylx—6y) 2 _12 =,
4) (B5RX)=2%4+2a+10a)x+2a-10a
=(x+2a)x+10a) _ (11) 6a®+17ab+12b* 33— %
6) (52)=22+(4a—9a)x+4a-(—9a) =(22+3b)3a +40) 32X —  w
=(x+4a)x—9a) 6 1252 175
6) (57)=x2+(—4da+12a)x+(—4a)-12a (12) 12a2-23ab+106° 3 _g9p ., _g
=(x—4a)x+12a) =(3a—2b)4a—5b) 4>< —5b — —15b
() (5R)=a’+(2b+9b)a+2b-9% 12 10p? o3
=(a+2b)a+9b)
8) (53)=a’+(—4b~+5b)a+(—4b)-5b
—(a 4b)(a+5b) 31 (1) x+y=A4 &B<,
©) (530)=a’+(—66—T8)a+(—6)-(—7b) (FH)=A4°-6A+8=(4-2(4-4)
=(a—6b)(a~7b) ={(x+y) =2){(x+ y)— 4}
=(x+y—2)x+y—4)
30 (1) 3x%4+5x+2 1 1—3 (2) a—b=ALtBL,
—(x+1)3%+2) 3 Xy (5R)=24°—3A+1=(A—1)(24—1)
3 2 5 ={(a—b)—1}2a—b)—1}
=(a—b—1)2a—2b-1)
(2) 22*+7x+3 1 .3— § L plewg
=(x+3)2x+1) 2 1]— 1 9 1 1
z 3 7 2 1 =3
(3) 3x2—Tx+2 1 g (B) x—y—1=A ¢tBL,
=(x—2)3x—1) 3 1 — 1 (5R)=A2—-6A+9=(A—-3)?
3 2 =7 ={(x—y-1)-3
=(x—y—4)?




4 a+b+1=4 LB<,
(5R)=4A2—5A—-6=(A—2)(4A+3)
={(a+b+1)—2}{4la+b+1)+3}
=(a+b—1)4a+4b+7)
1 —2— -8
4 3— 3
4 —6 -5
32 (1) #*’=A &8<,
(BR)=A2—TA—-18=(A+2)(A-9)
=(x24+2)(x2—9) =(x24+2)(x+3)(x—3)
2) x2=A &B<,
(5R)=A%2—-256=(A+16)(A—16)
=(x2+416)(22—16) =(x2+16)(x +4)(x —4)
(B) x*=A 8L,
(53)=814A2—18A+1=(9A 1)
=(92%—1)2={Bx+1)3x—1)}?
=(3x+1)%3x—1)?
@ x=Ars<, ,
(5X)=4A2-13A+9=(A—1)(4A—-9)
=(x%2—1)(422-9)
=(x+1)(x—1)2x+3)(2x—3)
(5) x*+3x=A &BL,
(5ER)=A%*—6A—-16=(A+2)(A—-8)
={(x2432) +2}{(x*+3x) — 8}
=(x24+3x+2)(x2+3x2—79)
=(x+1)x+2(x*+32—8)
6) x’—x=A LB,
(5)=A%—22A+40=(A—2)(A—20)
{(x2— 20— }{(xQ—x) 20}
(22— x—2)(x%—x—20)
=(x+1(x—2)(x+4)(x—5)

I

33 (1) yiZ oW CEHT DL
(5X)=(2x—6)y+x%2—5x+6
=2x—3)y+(x—2)(x—3)
=(x=3)2y+(x—2)}=(x=3)(x+2y—2)
2) alzo>\WTEHESTLH L
(53)=(2x—8)a+ x%—16
=2x—4)a+(x+4) x—4)
=(x—4)2a+(x+4))=(x—4)(x+2a+4)
(3) yITOWTEETL L
(5R)=(2x—4)y—(x*—4)
=2x—2)y—(x+2)(x—2)
=(x=2)2y—(x+2)}
=(x—2)—(x—2y+2)}
—(x—2)(x—2y+2)

iR &

Eil

4) bIZTOVWTEETDHE

(5R)=(a’-1)b+(a—1)
=(a+1a—1b+(a—1)
=(a—1)f(a+1)b+1}
=(a—1 ab+b+1)

(5) cIZTOWTEHT S L&
(BER)=(b—a)c+(a®—2ab+b?)
=—(a—b)c+(a—0b)
=(a—b)}{—c+(a—0>))
=(a—b)a—b—c)

6) zIZOPWTEHETH L&

(BR)=(—4x%+ y9)z + (dx%y— 59
—(4x%— yBz+ (42— »)y
=(4x2—yH(—z+y)
=22+ y)2x—yNy—2)

34 (1) (BRN)={x+Q2y—D}x+By+2)
=(x+2y—1)(x+3y+2)

1 2y—1 — 2y—1
1>< 3y+2 — 3y+2

1 (2y 1X3y+2) 5y+1
2 ER)=x’+(—a—5)x—(2a*—a—6)
=x24(—a—5)x—(a—2)2a+3)
—(2a+3)}

=(x+(a—2){x
=(x+a—2(x—2a—3)
— — a—2
i>< —(ga4—23) —> —2a-3
1 —(a—2)2a+3) —a-5
(3) xlZPWTERT DL
(HR)=222+(y—)xr—(y2=1)

=222+ (y—3x—(y+1Ny—1)

={x+(—=D2x—(y+1)}

=(x+y—12x—y—1)

1 -1 — 2y-2

2>< —(_;:4‘1) — —ifl

2 —(y+1y-1) y=3
4) xlOWTEET S L
(BR)=622+(—=Ty—6)x+(2y*+5y—12)

=62+ (—Ty—6)x+(y+4)2y—3)
={2x—(y+9}3x—(2y—3)}
=Q2x—y—4)(3x—2y+3)

2 —(y+4) —> —3y—12
3>< —(2y—3) —> —4y+6
6 (y+4)(2y—3) —7y—6

35 (1) (5
=a+ab®+bic+bci+c’a+ca’+2abe
=(b+c)a?+(b?+2bc+cHa+ b2 +bc?
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=(b+c)a?+(b+c)a+be(b+c)
=(b+cfa+(b+c)a+be
(b+c)(a+b)(a+c):(a+b)(b+c)(c+a)
(&
(

b+c)a +(624+3bc+cYa+ (b2 +bc?)
=(b+c)a?+(b2+3bc+cda+be(b+c)
=1-(b+c)a’+{l-bc+(b+c)%a+(b+c)- be
={la+b+cW(b+cla+bcl=(a+b+clab+bc+ca)

1 b+c — b2+2bc+c?
b+c><

be —> be
b4+c  beb+c) b%43bc+c?
1) (5N)=a®-3-a%2+3.4-22-2°

=a’—6a?+12a—8

(52)=(32)°+3-(3x)2-1+3-3x-12+1°

=27x%+27x% 4+ 9241
(5R)=(2x)°+3-(2x)%- 3y+3-2x-(3y)2

=825+ 3622y +54xy%+ 278
(5)=(4a)*—3-(4a)*-3b+3-4a-(3b):—
=64a°—144a%b +108ab2— 2753
=(x+3)x?—x-3+3) =22 +33=413427
=(a—1fa’+a-14+1)=a3—13=¢3—1
=(2a+b)|(20)*—2a-b+b% =223 +b°
=8a’+0b°
(53)=(3x—5){(3x)2+3x-5y+(59)3

=(32)°—(5y)° =272 — 12593

+(3y)?

(30)°

(1) (BER)=23—P=(x—4)(x24x-4+4?)
=(x—4)(x%+4x+16)

a)’ +3*=(2a +3){(2a)* —

2a+3)(4a —6a+9)

40P —b°=(4a —b)(4a)’ +da-b+ b3
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(
(
(4a—b)(16a%+4ab+b?)
(
(
(

(5 2a-3+3%

I
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(5)=(5x)%+(29)
524 29){(52)2—51- 2y +(23)%

5x+2y)(25x2—10xy +4y2)
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2—=1(x=7)X(x—3)(x—5)+15
22 —8x+7)(x2—8x+15)+15
(22—84) + T){(x?*—8x)+ 15} + 15
(22— 82)2+22(x% — 8x) + 105} + 15
%% —8x ) +22(x2—8x)+ 120
(22— 8x) +12}{(x® —8x) + 10}

22 —8x+12)(x*—8x+10)
2—2)(x—6)(x?—8x+10)
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@) BR)=(x—1)x+3)x(x—2)(x+4)+4
=(x24+2x—3)(x242x—8) +4
={(x"+22) - 3){(x?+ 24) - 8) +4
={(x2+22)2 — 11(x2+ 2x) + 24) + 4
=(x2+2x)2—11(x%+ 24) + 28
={(x%+22) — 4){(x2+2x) — 7}

=(

22+ 2x—4)(x%+2x—7)

39 (1) (5B)=2x)8x%+ %)
=2x3{(2%)° + y°}
=2x52x+ Y222 —2x- y+ 3
=2x32x+ y)(4x®—2xy+ y?)
@) (5X)

(
(232 —(5%)? -9

(x4 22— xy+ y2)(x— y) x>+ 2y + y?)
(x+ yNx— 2%+ 2y+ yH(x2— xy+ y?)
(53X)

xZ)S

=(x3+ »%)(«°
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1%
=( (»9°
== Az + 222+ y*)
=(x?—y{(x* + 2222+ %) — x2y?
=(x?—yB{(x%+ y?)? xy)}
=2 = 022+ y3 + 29){(x2+ y?) — x3)
=( PN+ xy+ yH)(x?

%%

2+ yNx—
(5-)
=(a®—3a% +3ab?—b?

+(63—3b% +3bc%—¢?)

+(c®—3c%a+3ca’—ad)
—3(b—c)a’®+3(b%—cHa—3bc(b—c)
—3(b—c)a?+3(b+c)b—c)a—3bc(b—
—3(b—cla®—(b+c)a+bc)
—3(b—cYa—bla—c)
=3(a~ Nb—c)c—a)
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